ttUvU Un.ob

AT ERIRNIUUSTINaT IdSUSRasTuaseasBendt teqe
ot ! o/ d [ 1
N159RTINNINT LYUNa6S19

WP 220 LM N AN T LAY e ST e

VUIUIIURLATING §IUUINTANAONGEAY ATUEVVIIIED oo
. NRWUUTLNUNATUNIIINAST . Sn&.000. o UM

Wulu. Badtiol oY Vulvee o ety B um
SV (0) . eSS UM

LUAITIHNURITIAINAN (ﬁ?ﬂ?gﬂﬂaﬂ)

=1 e TR et (I A I G S0 O % .o U5 % .

=

D.o 58100 aAFses Inauns

----------------------- B T T R N




o ar ) ° o o o w w & o
UgyBnemanuutenisindosyInsdouvinaiosdnaumidedusi 40 u1§ asndnes J.P.Sauer & Sohn WP 221

7.8.0N5Hu

A1Au Past Number 18017 T [wddsiiu| sseag 791
1 060448 Packing pl. EA 350.00 350.00
2 060449 Packing pl EA 680.00 680.00
3 031103 O-ring 165 x 5B Similar DIN 3770 NB70 il EA 350.00 350.00
q 001884 Radial Gasket A40 xb 55 x 7 DIN 3760NB 2 EA 1,350.00 2,700.00
5 005029 Gasket Ad8 x 55 DIN 7603 Cu 3 EA 350.00 1,050.00
6 035007 Low Pressure Tube DN10 il EA 1,350.00 1,350.00
7 035254 Tube Clamp St 2 EA 350.00 700.00
8 035026 Cylinder Roller Bearing NJ 2208 DIN 5412 2 EA 9,690.00 19,380.00
9 030113 Air Filter 1 EA 18,620.00 18,620.00
10 060266 Packing 1 EA 3,310.00 3,310.00
11 034983 Lamellar Valve 1 EA 174,330.00 174,330.00
12 035191 Needle Bush HK 2016 DIN 618 1 EA 2,670.00 2,670.00
13 060264 Packing 1 EA 1,990.00 1,990.00
14 034984 Lamellar Valve 1 EA 136,580.00 136,580.00
15 005009 Gasket A22 x 27 DIN 7603 Cu 4 EA 350.00 1,400.00
16 005006 Gasket A18 x 22 DIN 7603 Cu 1 EA 350.00 350.00
17 035010 Pressure Gauge 0 - 60 bar 1 EA 9,610.00 9,610.00
18 035426 Sieve 1 EA 680.00 680.00
19 030915 Safety Valve Stage | 8 bar 1 EA 72,270.00 72,270.00
20 033600 Safety Valve Stage Il 30 bar 1 EA 71,920.00 71,920.00
21 033637 Flexible Gear Rim for Coupling 1 EA 3,980.00 3,980.00
22 035555 Solenoid Valve Lucifer R1/2" Type 322 H 7506 1 EA 139,830.00 139,830.00
23 011130 Non-return Valve 1 EA 19,450.00 19,450.00
24 035223 Bottle Pressure Switch 8 - 60 Bar 1 EA 85,440.00 85,440.00
25 035032 Stud Screw M10 x 190 DIN 939 8.8 4 EA 680.00 2,720.00
26 002031 Hexagon Nut M10 DIN 934 8 4 EA 350.00 1,400.00
27 002360 Cup Nut M8 DIN 1587 5.8 2 EA 350.00 700.00
28 034228 Tensilock Screw M8 x 12 Class90 2 EA 350.00 700.00
29 003335 Round Head Rivet 3 x 12 DIN 660 St 2 EA 350.00 700.00
30 060285 Lubricator 1 EA 1,990.00 1,990.00
31 000015 Hexagon Screw M6 x 12 DIN 933 8.8 3 EA 350.00 1,050.00
32 012728 Hexagon Screw M6 x 25 DIN 933 8.8 1 EA 350.00 350.00
33 003113 Locking Washer VS6 4 EA 350.00 1,400.00
A l A o mu'iumfﬂimaau 780,000.00
MEYBANAN 7% 54,600.00
Suaudusmnneau 834,600.00

(ulmuauauviluanunnisau i)

Q. Gm‘ngi[




